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SIMPLE INTEREST SOLUTION

1. (b) Rate (nj)% = 4%

Simple Interest

(lk/kj.k C;kt) = Rs. 150

Time (le;) = 6 months (ekg)

= 
6 1

=
12 2

 year

Let the principal (ewy/u) = Rs. P

We know (ge tkurs gSa),

SI = P × R × T
100

Where (tgk¡),

SI  Simple Interest (lk/kj.k C;kt)

P   Principal (ewy/u)

R   Rate (nj)

T   Time (le;)

 150 = 
P × 4 × 1
2 ×100

 P = 
150×200

4
 = Rs. 7500

2. (a) Let principal (ekuk fd ewy/u) = 6P,

Hence, Amount (feJ/u) = 6P × 
7
6

 = 7P

SI = 7P – 6P = P

Time (le;) = 3 years (o"kZ)

SI = P × R × T
100

 P = 
6P×R×3

100

 R = 
100 50

= = 
18 9

5
5 %

9

Alternate:-
Note: In such type of questions to save
your valuable time try to think like that.

uksV% bl izdkj ds iz'uksa esa uhps nh x;h fof/ ds vuqlkj

lkspus dk iz;kl djsaA

Amount

7

+1 

Principal

6

Required Rate% = 
1 100

× =
6 3

5
5 %

9

3. (d) Note SI for every year will be same.

uksV% izR;sd o"kZ ds fy, lk/kj.k C;kt cjkcj gksxkA

Simple Interest for 3 years

(3 o"kks± dk lk/kj.k C;kt) = 3 × 5 = 15%

Simple Interest for 4 years

(4 o"kks± dk lk/kj.k C;kt) = 4 × 5 = 20%

Difference in interest (C;kt dk varj)
= (20 – 15) = 5%

According to question (iz'ukuqlkj),

5% of sum = 42

Sum = 
42
5

×100 = Rs. 840

4. (c) Let the rate of interest for two different
sources is r1 and r2 respectively.

ekuk fd nks vyx&vyx lzksrksa ls C;kt nj Øe'k% r1

vkSj r2 gSA

According to the question (iz'ukuqlkj),

11500×r ×3
100

– 21500×r ×3
100

= 13.50

4500 r1 – 4500 r2 = 1350

(r1 – r2) = 
1350
4500

 = 0.3%

Hence, Required difference in rates

(njksa dk vHkh"V varj) = 0.3%

Alternate:- / oSdfYid fof/:-

Let the difference in rates (ekuk fd njksa dk

varj) = d%

According to the question (iz'ukuqlkj),

d = 
13.50 100 1350

× =
1500 3 4500

 = 0.3%

5. (a) Let the sum lent at 8% is x then
sum lent at 10% is (10000 – x)
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ekuk fd 8» C;kt nj ij x #i;s dtZ fn;k x;k rFkk

10% nj ij (10000 – x) #i;s dk dtZ fn;k x;kA

According to the question (iz'ukuqlkj),

x × 
8

100
× 1 + (10000 – x) × 

10
100

× 1

= 10000 × 
9.2
100

× 1

8 10(10000– )
+

100 100
x x

 = 920

8x + 100000 – 10x = 92000
–2x + 100000 = 92000
–2x = 92000 – 100000
–2x = – 8000
x = 4000

Hence, Amount lent at (8% C;kt nj ij dtZ

nh x;h jkf'k) 8% = Rs. 4000

Amount lent at (10» C;kt nj ij dtZ nh x;h

jkf'k) 10% = (10000 – 4000)

= Rs. 6000

Alternate:-/oSdfYid fof/:-

Note:- In such type questions to save
your valuable time follow the given below
method.

uksV% bl izdkj ds iz'uksa esas vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA

By alligation Method (feJ.k fu;e ds }kjk)

(i) 
10%

I  partst

8%

0.8

9.2%

1.2

2 3:
Ratio of 
quantity

II  partnd

According to the question (iz'ukuqlkj),

(2 + 3) units = Rs. 10,000

5 units = Rs. 10,000
1 unit = Rs. 2,000

Hence amount invested at 8% (8» dh nj

ij fuos'k dh x;h jkf'k) = 2 units (;wfuV)
= 2 × 2000 = Rs. 4000

Amount invested at 10% (10» dh nj ij

fuos'k dh x;h jkf'k) = 3 units (;wfuV)
= 3 × 2000 = Rs. 6000

6. (c) Time = 2 years 3 months

= 2 + 
3 9

=
12 4

 years

We know 
SI = P × R × T

100

P = Rs. 1600, T = 
9
4

years, SI = Rs. 252

Put values in the above formula (mijksDr

fof/ esa eku j[kus ij),

 252 = 
1600×R×9

4×100

 252 = 36 R

 R = 
252
36

 = 7%

7. (b) Let the principal

(ekuk fd ewy/u) = 9 units

Hence simple interest

(lk/kj.k C;kt) = 
4
9

×9 = 4 units

Let, Rate of interest (C;kt nj) = R%

R = T (Given)
By using formula,

 
SI = P × R × T

100

4 = 
9×R×R

100
 R2 = 

400
9

R = 
20

= 
3

2
6 %

3

8. (c) Principal = Rs. 400,
Amount = Rs. 480
Simple Interest = Rs. (480 – 400)
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= Rs. 80
Time = 4 years

Rate% = SI × 100
P × T

Rate% = 
80×100 8000

=
400×4 1600

 = 5%

New rate of interest = (5 + 2) = 7%

Interest = 
400×7×4

100
 = 112

Hence amount = Rs. (400 + 112)
= Rs. 512
Alternate:-
Note:- In such type of questions to save
your valuable time follow the given below
method.

uksV%& bl izdkj ds iz'uksa esas vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA

Increased in rates (nj esa o`f¼ = 4 × 2 = 8%

Hence increased in amount (feJ/u esa òf¼)

= 400 × 
8

100
 = 32

Hence new amount (u;k feJ/u)
Rs. (480 + 32) = Rs. 512

9. (a) Let principal

(ekuk fd ewy/u) = 5 units

Hence interest = 5 × 
2
5

 = 2 units

Time = 10 years,
By using formula,

Rate% = 
2 100

×
5 10

 = 4%

Alternate:-
Note:- In such type of questions to save
your valuable time follow the given below
method.

uksV%& bl izdkj ds iz'uksa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA
Principal

5
+ 2

5 

Interest

2

= 
2 100

×
5 10

 = 4%

10. (c) Principal

5
+ 2

5 

Interest

2

Required time = 
2 100

×
5 8

= 5 years

11. (a) Principal (ewy/u) = Rs. 1750

Let the first part (ekuk fd igyk Hkkx) = x

Hence second part (blfy, nwljk Hkkx)
= (1750 – x)

According to the question (iz'ukuqlkj),

x × 
8

100
× 1 = (1750 – x) × 

6
100

× 1

4x = 5250 – 3x

7x = 5250
x = 750

First part (igyk Hkkx) = Rs. 750

Second part (nwljk Hkkx)
= Rs. (1750 – 750)
= Rs. 1000

Required interest (vHkh"V C;kt)

= 750 × 
8

100
 = Rs. 60

Alternate:-
Note:- In such type of questions to save
your valuable time follow the given below
method.

uksV%& bl izdkj ds iz'uksa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA

Let, Principal (ekuk fd ewy/u) = 100

usits in both cases (nksuksa fLFkfr;ksa esa)
Ist part IInd part Total

Principal 100×3 : 100×4
+

 700 units

Interest 8×3 : 6×4

Note: Interest is same in both cases (nksuksa

fLFkfr;ksa esas C;kt cjkcj gksxkA)

According to the question (iz'ukuqlkj),

700 units = Rs. 1750
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1 unit = Rs. 
1750
700

24 units = Rs. 
1750
700

× 24 = Rs. 60

Hence, required interest (vHkh"V C;kt)
= Rs. 60

12. (d) Avg. rate of interest (vkSlr C;kt nj)

= 
300 100 200

× = %
1550 3 31

By using mixture and Alligation Rule

(feJ.k fu;e ds }kjk),

5% 8%
IInd partI  partst

%200
31

Note: Always remember to solve such
type of questions multiply by 31 in both
parts.

uksV% bl izdkj ds iz'uksa dk gy djrs gq, ges'kk nksuksa

Hkkx 31 ls xq.kk djsaA

155% 248%

48

16

45

15

IInd partI  partst

%

Ratio of
amounts

200

Required Ratio (vHkh"V vuqikr) = 16 : 15

13. (b) Avg. rate of interest (vkSlr C;kt nj)

= 
440 100

×
5000 2

= 4.4%

By using mixture and alligation rule

(feJ.k fu;e ds }kjk),

4% 5%

0.6

3

0.4

2

IInd partI  partst

%

Ratio of
amounts :

:

4.4

Hence Required Ratio (vHkh"V vuqikr)
= 3 :  2

14. (b) Time (le;) = 4 years (o"kZ)
Let sum = 5 units

Hence interest = 5 × 
1
5

 = 1 unit

Required rate% = 
1
5

×
100

4
 = 5%

15. (a)
Amount

(Rs.) 
520

568

+48

Time 
(years)

5

7

+2

Hence interest in 2 years = Rs. 48

Interest in 1 years = Rs. 
48
2

= Rs. 24

Interest in 5 years = Rs. 24 × 5
= Rs. 120
 We know,

SI = Amount – Principal

Principal = Rs. (520 – 120) = Rs. 400
16. (c) Let the latter amount = Rs. x

According to the question,
500×12×4 ×10×4

+
100 100

x

240 + 
4
10

x
 = 480

4
10

x
 = 240

x = 600
Hence latter amount = Rs. 600
Alternate:-
Note: In such type of questions to save
your valuable time follow the given below
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method.

uksV%& bl izdkj ds iz'uksa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA

Interest on first part (igys Hkkx ij C;kt)

= 
500×12×4

100
= Rs. 240

Remaining interest ('ks"k C;kt) = Rs. (480

– 240) = Rs. 240

Hence Required amount (vHkh"V feJ/u)

= 
240

(4×10) ×100 = Rs. 600

17. (c) Let initial capital (ek=kk fd vkjafHkd laifÙk)
= 100 units

100

8%

1
4

31
4

8%

31
4

%

difference
According to the question (iz'ukuqlkj),

1
4

unit = Rs. 61.50

1 unit = Rs. 61.50 × 4 = Rs. 246
100 units = Rs. 24600

Hence, Required capital (vHkh"V laifÙk)
= Rs. 24600
Alternate:-

Difference in percentage (» esa varj)

= 8% – 
31
4

%

1
4

% = 61.50

100% = 24600
18. (d) Let sum lent to c = Rs. x

According to the question (iz'ukuqlkj),

Total interest of 4 years (4 o"kks± dk dqy

C;kt) = 4 × 7% = 28%

S.I. received from B (B ls izkIr lk/kj.k C;kt)

= 2500 × 
28

100
= Rs. 700

Remaining S.I. that is received from C

(C ls izkIr 'ks"k lk/kj.k C;kt)

= Rs. 1120 – Rs. 700 = Rs. 420

Principal (ewy/u) = 420 × 
100
28

= Rs. 1500

19. (d) Amount
(Rs.) 
756

873

+117

Time 
(years)

2

3

1.5 years

Hence interest in 1 years = Rs. 1171
2 

1
2 

Interest in 1 year = 
117

3
× 2 = Rs. 78

Interest in 2 years = Rs. 78 × 2 = Rs. 156
Principal = Rs. (756 – 156) = Rs. 600

Required rate % = 
78
600

×100 = 13%

20. (c) Amount = Rs. 7000
Total interest in 5 years

= 5×
10
3

% = 
50
3

% = 
1
6

Principal
6

6000

×1000

Amount
(6 + 1)

7000

×1000

Hence Required principal = Rs. 6000
21. (a) Time = 4 years

Sum

40
+1 unit

Amount

41

Required rate% = 
1 100

×
40 1

× 4 = 10%

22 (d) Let the sum = Rs. P, T1 = 
8

12
yrs,
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T2 = 
15
12

 years

According to the question,

P×5×15 P×4×8
–

100 ×12 100 ×12
 = 129


43P

1200
 = 129

 P = Rs. 3600
Hence required sum (vHkh"V ;ksx)
= Rs. 3600
Alternate:-

Let sum (ekuk fd ;ksx) = 100 units

According to the question,
100

(8×4)%

43 units

7532

(15×5)%

difference
43 units = Rs. 129
1 unit = Rs. 3
100 units = Rs. 3 × 100 = Rs. 300
yearly sum = Rs. 12 × 300 = Rs. 3600
Note:- Time is given in months and
rate% is given per annum. Hence we
multiplied the answer by 12.

uksV%& le; ekg esa fn;k x;k gS vkSj nj izfr'kr okf"kd

gS blfy, geus mÙkj dks 12 ls xq.kk dj fn;k gSA
23. (a) Let the sum = 100 units

100

11.5%

1.5

1011.5

10%

According to the question,
1.5 units = 55.50

1 units = 
55.50
1.5

100 units = 
55.50
1.5

× 100 = Rs. 3700

24. (c) same as question no. 5 we will use the

alligation method (iz'u la[;k 5 dh rjg ge

;gk¡ Hkh feJ.k fu;e dk iz;ksx djsaxs)
6% 10%

0.8

1

3.2

4

%

:

:

9.2

 Parts are 
1000
(4+1) ×4, 

1000
(4+1) ×1

 800, 200
25. (d) Total interest paid in 3 years (3 o"kks± esa dqy

C;kt dk Hkqxrku) = 12 × 3 = 36%

Interest (C;kt) = Rs. 5400

According to the questions (iz'ukuqlkj),

36% of sum = Rs. 5400

1% of sum = Rs. 
5400
36

sum = 
5400
36

×100 = Rs. 15000

Hence, required sum (vHkh"V ;ksx)
= Rs. 15000

26. (c)

2 1
2 

Amount
(Rs.) 

1012

1067.20

+55.20

Time 
(years)

4

+1 years

Interest in years = Rs. 55.203
2 

1
2 

Interest in 
3
2

 years = Rs. 55.20

Interest in 1 year (1 o"kZ esa C;kt)

= 
55.20

3
× 2 = Rs. 36.80

Interest in 4 years (4 o"kks± esa C;kt)
= 36.80 × 4 = Rs. 147.2
Principal = Amount – Interest



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 478 ]

THATHAGAT

IN
STITUTE

= 1067.20 – 147.20 = Rs. 920

Required Rate% = 
36.80
920

×100 = 4%

27. (a)

2

Amount
(Rs.) 

720

1020

+300

Time 
(years)

5

+3 

Interest in 3 years = Rs. 300
Interest in 1 years = Rs. 100
Interest in 2 years = Rs. 100 × 2 = Rs. 200
Required Sum = 720 – 200 = Rs. 520

28. (d) Number of days in a years

(1 o"kZ esa fnuksa dh la[;k) = 365

Total money (dqy #i;s) = 1 × 365

= Rs. 365
Time = 1 year,
Rate% = 5%

Sum = 
365×100

5×1
 = Rs. 7300

29. (d) Let the amount invested (ekuk fd fuos'k dh

x;h jkf'k) = Rs. P

According to the question,

P×9×2 P×10×2
+

100 100
 = 760

(18P+20P)
100

 = 760

38P = 76000, P = 2000
Alternate:-

Total interest percent (dqy C;kt nj)
= (9 × 2)% + (10 × 2)%
 38% = 760
 100% = 2000
Hence required principal = Rs. 2000

30. (a) Let sum = 25 units

Sum
25

× 16
25 

Interest
16

Time(t) = Rate(R%)
(Given)

16 = 
25×R×R

100
 R2 = 64

R = 8%

31. (a) Let the principal (ekuk fd ewy/u)
= 100 units

100

10%

+2.5

12.510

12 %1
2
gain

According to the question,
2.5 units = Rs. 1250

1 unit = Rs. 
1250
2.5

= Rs. 500

100 units = Rs. 500 × 100 = Rs. 50,000

Hence, total principal (dqy ewy/u)
= Rs. 50,000
Alternate:-

12
1
2

% – 10%  = 2.5%

2.5% = 1250 (given)
100% = 50000

32. (c) T1 = 15 months = 
15
12

 years,

R1 = 7
1
2

% = 
15
2

%

T2 = 8 months = 
8

12
 years,

R2 = 12
1
2

% = 
25
2

%

Let the principal = P
According to the question,

P×15×15 P×25×8
–

12×2×100 12×2×100
 = 32.50

225P 200P
–

2400 2400
 = 32.50
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25P
2400

 = 32.50  P = Rs. 3120

Hence required principal = Rs. 3120

33. (a)

+9

8172

interest

AmountSum

By using formula,

Time = 
9 100×4

×
72 25

 = 2 years

34. (a) Total days =
May June July Aug. Sept
21 + 30 + 31 + 31 + 10
= 123 days
By using formula,

SI = 
7300×5×123

100×365
= Rs. 123

35. (c) Gain% = 
1

6 % × 2
4

 
   – (4 × 2)%

= 12.5% – 8% = 4.5%
Principa = Rs. 5000

Required gain = 5000 × 
4.5
100

= Rs. 225

36. (c) Principal = Rs. 16000, Interest = Rs. 700

Avg. rate of interest (vkSlr C;kt nj)

= 
700

16000
×100 = 

35
8

%

Now, By alligation Rule (feJ.k fu;e ds }kjk),

4% × 8 5% × 8
IInd partI  partst

% × 835
8

Note: To make your calculation easier
multipling each part by 8.

uksV% viuh x.kuk dks vklku djus ds fy, izR;sd Hkkx

dks 8 ls xq.kk dj nsaA

32% 40%

5 3

IInd partI  partst

%

Ratio of
amounts :

35

Required part (vHkh"V Hkkx) = 
16000
(5 + 3) × 5

= Rs. 10,000
37. (b) Let principal = P,

Amount = 3 P
Interest = 3P – P = 2P
According to the question,

2P = 
P×R×20

100
  R = 10%

Let after t year it will become double

(ekuk fd t o"kZ ds ckn ;g nksxquk gks tk,xk)

Hence, interest = 2P – P = P

P
P×10×t

100
 t = 10 years

Alternate:-
Note: In such type of questions to save
your valuable time follow the given below
method.

uksV% bl izdkj ds iz'uksa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA)

Principal

1

1

Amount

3

2

Interest

2

1

Time (Years)

20

10

diff.

diff.

1
2

× 1
2

×

Hence required time = 10 years
38. (c) Let the first part = x

second part = (1500 – x)
According to the question,

×10×5 (1500– )×12.5×4
=

100 100
x x

50x = (1500 – x)50
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x = 1500 – x
2x = 1500
x = 750
Hence sum lent on 12.5%
= (1500 – 750) = Rs. 750

39. (d) Time (t) = 5 years
loan amount : interest amount
= 5 : 2

dtZ jkf'k % C;kt jkf'k = 5 : 2

Rate of interest = 
2 100

×
5 5

= 8%

Let, Principal   = 100

Principal : 

100

25

Interest rate 

2

8

× 1
4 

× 1
4 

: 

Hence Required ratio = 25 : 2
40. (c) Let the of interest = R%

 According to question
 Interest in 2 yrs = 83.20 – 64

 R% = 
S.I.×100

P × T

 R% = 
19.20 ×100

64 × 2

 R% = 
30
2

 = 15%

Therefore, Amount of Rs. 86 will be in

four years by 15% rate of interest (vr%]

86 #i;s dh jkf'k 4 o"kks± esa 15» C;kt nj ls gksxhA)

 S.I = 
86×15×4

100
 = Rs. 51.6

 Amount = Principal + S.I.
= 86 + 51.6 = Rs. 137.60

41. (d) Half yearly Rate (v/Zokf"kZd nj) = 
6
2

= 3%

Effective Rate % = 3 + 3 + 
3 × 3
100

= 6.09%
42. (a) Let principal = 10P

interest = 10P × 
3

10
 = 3P

According to the question,
Case (i):

3P = 
10P×R×6

100
 R = 5%

Case (ii):
Interest = Principal = 10P

10P = 
10P×5×t

100

t = 20 years
43. (a) Let the principal in each case

(ekuk fd izR;sd fLFkfr esa ewy/u) = 100 units

According to the question,

    

Principal

Rate%

Time

Interest

I  partst

100×6

10

6

60×6

II  PARTND

100×3

12

10

120×3

III  partrd

100×2

15

12

180×2

Interest  Interest is same in each, so

equal the interest. (izR;sd fLFkfr;ksa esa C;kt

cjkcj gksxk] blfy, C;kt dks cjkcj djus ij)
Hence required ratio = 600 : 300 : 200 of
sum 6 : 3 : 2
Alternate:-
When Interest is equal then sum of
amount will be distributed in following

ratio. (tc C;kt cjkcj gksrk gS rc jkf'k fuEu

vuqikr esa forfjr gksrh gS)

= Required ratio of sum (jkf'k dk vHkh"V

vuqikr)

= 
31 1 2 2 3

1 1 1
: :

R T R T R T

= 
1 1 1

: :
6×10 10×12 12×15

= 
1 1 1

: :
60 120 180

  6 : 3 : 2
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44. (d) Principal = Rs. 1000, Rate = 5%
Interest for first 10 years

= 
1000×5×10

100
= Rs. 500

After 10 years principal = (1000 + 500)
= Rs. 1500
Remaining interest = Rs.(2000 – 1500)
= Rs. 500
Required Rate%

= 
500 100 100 20 2

× = = 6
1500 5 15 3 3

 yrs

Total time = 
2

10 + 6
3

 
    years

= 16
2
3

 years

45. (d) Amount(Rs.) : 

5200

5680

Time (years) 

7

5

×480 
  ×2
years

: 

Interest in 2 years = Rs. 480

Interest in 1 year = Rs. 
480
2

= Rs. 240
Interest in 5 years = Rs. 240 × 5
= Rs. 1200
Principal = Rs. (5200 – 1200)
= Rs. 4000

Required Rate% = 
240
4000

×100 = 6%

46. (a) Let the Rate of interest (ekuk fd C;kt)
= R%
According to the question,

400×R×2 550×R×4 1200×R×6
+ +

100 100 100

= 1020
8R + 22R +72R = 1020
102R = 1020
R = 10%

47. (a) By using formula,

4200 = 
29400×R×6

100

R = 
4200 700 100 50

= = =
294×6 294 42 21

R = 2
8
21

%

48. (b) Principal

6000

+1200

Amount

7200

By using formula,

Rate% =
1200 100

×
6000 4

= 5%

New rate (u;h nj)% = 5×
3
2

 = 7.5%

Interest after 5 years (5 o"kZ ds ckn C;kt)

= 
6000×7.5×5

100
= Rs. 2250

Hence, amount = Rs. (6000 + 2250)
= Rs. 8250

49. (c) Note:- For detailed method of this
question check solution of earlier

question. (foLrkj esas gy tkuus ds fy, igys ds

iz'uksa ds gy ns[ks)

Principal

1

×3

Amount

3

1
×5

5
diff.

diff.
2

4

×2

Interest Time
(years)

15

30

×2

Hence, Required time

(vHkh"V le;) = 30 years

50. (c) Let the required time = t years
According to the question,

500×4×6.25 400×5×t
=

100 100

5 × 4 × 625 = 400 × 5 × t

t = 
625 25

= = 
100 4

1
6

4
years
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51. (b) Principal

16
+ 1

16 

Interest

1

Let Rate of interest = R%
Time = R
By using formula,

1 = 
16×R×R

100

 R2 = 
100
16

R =
10
4

 R = 2
1
2

%

52. (c) Let after t year amount will be equal. (ekuk

fd t o"kZ ds ckn jkf'k cjkcj gks tk,xh)

According to the question,

800 + 
800×12×t

100
= 910 + 

910×10×t
100

800 + 96t = 910 + 91t
5t = 110
t = 22 years
Hence, after 22 years the amount will be

equal. (22 o"kZ ds ckn jkf'k cjkcj gksxh)

53. (c) Principal
4×5

5×4

:
Amount

5×5

7×4

Interest
1×5

2×4
:

diff.

diff.

Note:- Principal will be same so equate
the principal.

uksV%& ewy/u cjkcj gksxk] blfy, ewy/u dks cjkcj

djus ijA

Principal
20

20

:
Amount

25

28

Interest
5

8:

diff.

diff.

+3

Interest in 3 years = 3 units

Interest in 1 year = 
3
3

= 1 unit

Required Rate% = 
1
20

×100 = 5%

54. (c) 40% = 
2
5

, 50% = 
1
2

Let the total amount = 100
According to the question,

100

40 30 30

6 3 5.4

15% 10% 18%

40%

Required Rate of interest

= 
(6+3+5.4)

100
× 100 = 14.4%

55. (c) Principal = Rs. 15600,
Rate% = 10%

SI = 
15600×10×2

100
= Rs. 3120

Now, New principal for next two years

(vxys nks o"kks± ds fy, u;k ewy/u)
= 15600 + 3120 = Rs. 18720

New SI = 
18720×10×2

100
= Rs. 3744

Hence Required SI = Rs. 3744

56. (a) Avg. rate of interest (vkSlr C;kt nj)

= 
396 100 132 44

× = = %
1500 3 5×3 5

10%×5 7%×5
IInd partI  partst

%×5
44
5

Note:- for easy calculation multiply by 5
in each part of the given data in above
figure.
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uksV%& viuh x.kuk dks vklku djus ds fy, fn, x,

rF;ksa ds izR;sd Hkkx dks 5 ls xq.kk djsaA

50% 35%

9 6

44

IInd partI  partst

Ratio of
amounts

%

3 2:

According to the question,

(3+2) units = Rs. 1500
5 units = Rs. 1500
1 unit = Rs. 300
3 units = Rs. 300 × 3 = Rs. 900

Hence, amount lent at 10% (10» C;kt nj

ij dtZ nh x;h jkf'k) = Rs. 900

57. (b) Note:- In such type of questions to save
your valuable time follow the given below
method.

uksV% bl izdkj ds iz'uksa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA

Value of Installment =

n–1 n–2

Principal×100
time×100+(t +t +......1)×Rate%

Principal = Rs. 800, Rate = 4%,
Time = 4 years

Installment = 
848×100

4×100+(3+2+1)×4

= 
848×100 848×100

=
(400+24) 424 = Rs. 200

58. (b) Avg rate of interest (vkSlr C;kt nj)

=
2560
60000

×100

= 
256 64

= %
60 15

Now By using alligation method (feJ.k

fu;e ds }kjk),

5×15=75% 4×15=60%

4 11

IInd partI  partst

Ratio of
amounts :

64%×15
15

According to the question,
(4+1) units = Rs. 60,000
15 units = Rs. 60,000
1 unit = Rs. 4,000
11 units = Rs. 4000 × 11 = Rs. 44000

Hence, amount spend on 4% (4» ij [kpZ

dh x;h jkf'k) = Rs. 44000

59. (d) Amount
(Rs.) 

2900

3000

+100

Time 
(years)

10

+2 
8

:

Interest in 2 years = Rs. 100

Interest in 1 year (1 o"kZ dk C;kt)

= Rs.
100

2
 = Rs. 50

Interest in 8 years (8 o"kks± dk C;kt)
= 50 × 8 = Rs. 400
Hence principal = 2900 – 400

        = Rs.2500

Required Rate% = 
50

2500
×100 = 2%

60. (c) According to the question,

P

2PP

difference interest

AmountPrincipal

Rate% = 
P 100 25

×  =  = 
P 12 3

1
8 %

3

61. (c)

3P

7P4P

difference interest

AmountPrincipal



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 484 ]

THATHAGAT

IN
STITUTE

Required Rate%

= 
3P 100 75

× = = 
4P 4 4

3
18 %

4

62. (d) According to the question,
Case(i): time = 5 years

+1

21

difference interest

AmountPrincipal

Required Rate% = 
1 100

×
1 5

= 
100

5
 = 20%

Case (ii)

+2

31

difference interest

AmountPrincipal

Required Rate%

= 
2 100 50

× = = 
1 12 3

2
16 %

3

Hence, Lower Rate (de nj)%

= 16
2
3

%

63. (d) According to the question,

+1

21

difference interest

AmountPrincipal

Rate% = 15%

Required time = 
1 100 20

× =
1 15 3

= 6
2
3

years

64. (a) Let the first part (ekuk fd igyk Hkkx)
= Rs. x

Hence second part (nwljk Hkkx)
= Rs. (12000 – x)
According to the question,

×12×3 (12000 – )×9×16
= 

100 2×100
x x

36x = 72(12000 – x)
x = 24000 – 2x

3x = 24000
x = Rs. 8000
Ist part = Rs. 8000
IInd part = Rs. (12000 – 8000) = Rs. 4000

Hence maximum part (vf/dre Hkkx)
= Rs. 8000
Alternative:-
Note:- In such type of questions to save
your valuable time follow the given below
method.

uksV%& bl izdkj ds iz'uksa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA

Let two parts are P1 and P2 respectively.

(ekuk fd nks Hkkx Øe'k% P1 rFkk P2 gS)

According to the question,

P1 × 
36

100
×1 = P2 × 

9 16
×

2 100
×1

P1 × 4 = 8P2

P1 = 2 P2

1

2

P 2
=

P 1
 P1 : P2 = 2 : 1

Hence greater part (cM+k Hkkx)

= 
12000
(2+1) × 2 = Rs. 8000

65. (c) Remaining amount ('ks"k jkf'k)
= 50,000 – (8000 + 2400)
= Rs. 18000

Let rate of interest (ekuk fd C;kt nj) = R%

According to the question (iz'ukuqlkj),
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8000 11
×

100 2
 ×1 + 

24000×6
100

×1+
18000×R

100

= 3680

44000 144000 1800R
+ +

100 100 100
= 3680

188000 18000R
+

100 100
= 3680

18000R
100

= 3680 – 1880

180R = 1800
R = 10%

Hence, Required Rate (vHkh"V nj)%

= 10%
66. (a) Let time = t years

According to the question,

t = 
1080 100

×
3000 12

 = 3 years

67. (b)

P4P

InterestPrincipal

time = Rate% (Given)
Now by using formula,

P = 
4P×R×R

100
 R2 =

100
4

R = 
10
2

  R = 5%

68. (c) Total interest rate for
x = 7.5 × 4 = 30%
Total interest rate for
y = 7.5 × 5 = 37.5%
Difference in rates = (37.5 – 30)%
= 7.5%
According to the question,
7.5% of sum = 150

1% of sum = 
150
7.5

Individual sum (O;fDrxr ;ksx)

= 
150
7.5

×100 = Rs. 2000

Hence Required sum = Rs. 2000

69. (a) In two years extra rate% (2 o"kks± esa vfrfjDr

C;kt nj) = 3 × 2 = 6%

Extra amount = Rs. 72 (Given)
According to the question,
6% of sum = Rs. 72

1% of sum = Rs. 
72
6

Sum = 
72
6

×100 = Rs. 1200

Hence required sum = Rs. 1200

70. (d) Amount
(Rs.) 

880

920

+40

Time 
(years)

3

 +1
years 

2

:

:

1 year interest = Rs. 40
2 years interest = Rs. 40 × 2 = Rs. 80
Hence sum = Rs. (880 – 80) = Rs. 800

71. (d) Let the Rate% = R
According to the question,

5000×2×R 3000×4×R
+

100 100
 = 2200

100R + 120R = 2200
220R = 2200
R = 10%
Hence required rate% = 10%

72. (a) By using formula,

Installment = 
6450×100

4×100+(3+2+1)×5

= 
6450×100

4×100+(3+2+1)×5

= 
6450×100

430

Installment = Rs. 1500
Hence value of installment
= Rs. 1500
Note:- We have explained formula in
previous questions.

uksV%& fiNys iz'u esa geus bl fof/ ij foLrkj ls ppkZ

dh gSA
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73. (c) Amount
(Rs.) 

850

925

+75

Time 
(years)

4

 +1
years 

3

:

:

1 year interest = Rs. 75
3 years interest = Rs. 75 × 3 = Rs. 225
Hence, Required sum
= Rs. (850 – 225) = Rs. 625

74. (c)

+P

2PP

difference interest

AmountPrincipal

Required time = 
P 100

×
P 25

×4 = 16 yrs

75. (c)

Principal

1

1

Amount

2

3

Interest

1

2

Time (Years)

10

20

diff.

diff.

×2 ×2

Hence required time = 20 years
Note:- We have explained such type of
questions in detail in previous
questions.

uksV%& fiNys iz'uksa esa geus bl izdkj ds iz'uksa dks

foLrkjiwoZd le>k;k gSA
76. (c) According to the question,

Principal
9P

× 1
9 

Interest
P

Rate% = time = R (given)
By using formula,

P = 
9P×R×R

100
 R2 = 

100
9

R = 
10
3

 R = 3
1
3

%

77. (c) 16
2
3

% = 
Interest1
Principal6





Let principal = 6
Interest = 6
Let time = t years
By using formula

6 = 
6×50×t
3×100

t =  6 years

Alternative:-
Note:- In such type of questions to save
your valuable time think like the given
way.

uksV%& bl izdkj ds iz'uksa esa vius cgqewY; le; dh

cpr ds fy, fn, x, rjhds ls lkspus dk iz;kl djsaA

Rate% = 16
2
3

% = 
Interest1
Principal6





Represents for 1 years
According to the question,
Principal = interest
6 = 1 × 6
Hence time = 1 × 6 = 6 years
Note:- If interest will be six times then
time will also be six times.

uksV%& ;fn C;kt N% xq.kk gksrk gS] rks le; Hkh N% xq.kk

gksxkA
78. (b) Let the difference between Rates

(ekuk fd C;kt njksa ds chp dk varj) = d%

According to the question,

d = 
2.50 100

×
500 2

= 0.25%

79. (d) More interest paid in 3 years (3 o"kks± esa fn;k

x;k vfrfjDr C;kt) = 2.5 × 3 = 7.5%

According to the question,
7.5% of sum = Rs. 540

1% of sum = Rs. 
540
7.5

Sum = 
540
7.5

×100 = Rs. 7200

80. (a) More interest paid in 2 years (2 o"kks± esa fn;k

x;k vfrfjDr C;kt) = 2 × 1 = 2%

According to the question,
2% of sum = Rs. 24
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1% of sum = Rs. 
24
2

Total sum = Rs. 
24
2

×100 = Rs. 1200

81. (b) Let the total capital (ekuk fd dqy laifÙk)
= Rs. 600
According to the question,

600

300 200 100

30 18 12

10% 9% 12%

Remaining
1
2 1

3

Total interest = (30+18+12)= Rs. 60

Required rate% = 
60
600

×100 = 10%

Alternate:
Let the total amount = Rs. 6

Total average rate of interest (dqy vkSlr

C;kt nj)

= 
(3×10%)+(2×3%)+(1×12%)

6

= 
(30+18+12)

6
% = 10%

82. (c)

+156

956800

interest

AmountPrincipal

Rate% = 
156 100 52 13

× = =
800 3 8 2

%

Increased in Rates = 
13

+4
2

 
   % = 10.5%

New interest = 
800×10.5×3

100
= Rs. 252

Hence, amount = Rs. (800 + 252)
= Rs. 1052
Alternate:-
Note: In such type of questions to save
your valuable time follow the given below
method.

uksV%& bl izdkj ds iz'ukssa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA

Increased in Rates (nj esa o`f¼) = 4 × 3

= 12%

Hence increased in amount (feJ/u esa òf¼)

= 800 × 
12

100
= Rs. 96

Hence total amount (dqy feJ/u)
= (96 + 956) = Rs. 1052

Hence, Required amount (vHkh"V feJ/u)
= Rs. 1052

83. (a)

× 9
25

925

AmountPrincipal

Let rate of interest = R%,
Time = 6 years
By using formula,

R = 
9 100

×
25 6

= 6%

Hence, required rate% = 6%

84. (a)

× 1
4

34

AmountPrincipal

By using formula,

Rate% = 
1 100

×
4 5

= 5%

85. (b)

× 3
8

38

AmountPrincipal
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Time = 6
1
4

years = 
25
4

 years

By using formula,

Required Rate% = 
3 100

×
8 25

× 4 = 6%

86. (b) According to the question,
Principal Interest
10 3
Rate% = 10%

Time = 
3 100

×
10 10

= 3 years

87. (c) Let the amount invested (ekuk fd fuos'k dh

x;h jkf'k) = Rs. P

According to the question,

P + 
P×10×4

100
= 770

P + 
4P
10

 = 770

14P
10

= 770  P = 
770×10

14
= Rs. 550

Hence, Required invested amount (vHkh"V

fuosf'kd jkf'k) = Rs. 550

Alternate:

10% = 
Interest1
Principal10





Interest in 4 years = 1 × 4 = 4
Amount = (interest + principal)
= 4  + 10 = 14
According to the question,
14 units = 770

1 unit = 
770
14

10 units = 
770
14

×10 = Rs. 550

The amount invested = Rs. 550
88. (b) Rate% = 12%, Principal = Rs. 1860

Amount = Rs. 2641.20
Interest = Rs. (2641.20 – 1860)
= Rs. 781.20
By using formula,

Required time = 
781.20×100

=
1860×12

1
3

2
yrs

89. (b) 20% = 
1 1 decrease

=
5 5 Initial

Initial

5

Final

4

5 4

25 16

× ×

×400

10,000

×400

6400

Hence, population after two years (2 o"kZ

ds ckn tula[;k) = Rs. 6400

90. (c)

P

2PP

(interest)

AmountPrincipal

Required time (vHkh"V le;) = 
P 100

×
P 2

= 8
1
3

 years = 8 years 4 months

91. (b) Let the capital = Rs. P
and Rate% = R%
According to the question,

P×R×1 P×5×2
=

100 100
= R = 10%

92. (d)

+2
(interest)

1210

AmountPrincipal

Required rate of interest (vHkh"V C;kt nj)

= 
2 100

×
10 1

 = 20%

93. (a) Let two parts are P1 and P2 respectively,

ekuk fd nks Hkkx Øe'k% P1 vkSj P2 gSA

According to the question,
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1 2P ×3×12 P ×9×16
=

100 2×100

36 P1 = 72 P2

1

2

P 72 2
= =

P 36 1

P1 : P2 = 2 : 1

Hence, required rat io (vHkh"V vuqikr)
= 2 : 1

94. (c) Capital after paying income tax (vk;dj

nsus ds ckn laifÙk)
 4% – 3.75%
.25% = 48

100% = 
48
25

×100 = 19200

Capital without paying Income tax (vk;dj

nsus ds ckn laifÙk)
4% – 3.75%
 .25% = 48

100% = 
48
25

×100 = 19200

 Capital without paying Income tax of
rate of and Rs. paise (vk;dj vnk djus ls

igys ewy jkf'k)
19200 = Capital × 96%
Net Capital = 20000

95. (d) Total profit = 
20000×10×1

100

= Rs. 2000
According to the question,

Case (I): Interest = 
12000×8×1

100

= Rs. 960
Remaining interest (profit) = (2000 –
12000) = Rs. 1040
Remaining principal = (20000 – 12000)
= Rs. 8000

Required Rate % = 
1040
8000

×100 = 13%

Alternate:-
Total money = Rs. 20000

I : II
12000 : 8000

3 : 2
Let the second part will be given at R%

rate of interest (ekuk fd nwljs Hkkx dks r izfr'kr

C;kt nj ij fn;k x;k)
 We know that (ge tkurs gSa fd)

Total average rate of interest (dqy vkSlr

C;kt nj)


(3×8)% + (2×R%)

3 + 2
= 10%

 24% + 2R = 50%
 2R = 26%
 R = 13%

96. (b) Principal = Rs. 12000,
Rate% = 10%

Interest paid by the person in 5 years (5

o"kks± esa O;fDr }kjk fn;k x;k C;kt)

= 
12000×10×5

100
= Rs. 6000

Interest received by the person after 3

years (3 o"kks± ds ckn O;fDr }kjk izkIr fd;k x;k

C;kt)
= Rs. (6000 – 3320) = Rs. 2680
By using formula,

Rate% = 
2680 100 67 4

× = = 7 %
12000 3 9 9

Hence required Rate% = 7
4

%
9

97. (d) Case(I):

+2P

3PP

difference (interest)

AmountPrincipal

Required Rate% = 
2P 100

×
P 8

= 25%

Case(II):

+3P

4PP

AmountPrincipal
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Required time = 
3P 100

×
P 25

= 12 years

Alternate:-
Note:- In such type of questions to save
your valuable time follow the given below
method.

uksV%& bl izdkj ds iz'uksa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksd dj

ldrs gSaA

Principal

P

P

Amount

3P

4P

Interest

2P

3P

diff.

diff.

×1.5

Year
(Time)

12

8
×1.5

Hence, Required time (vHkh"V le;)
= 12 years

98. (b) Let total capital (ekuk fd dqy laifÙk)
= 1200 units
According to the question,

1200

300 800 100

9 40 11

10% 9% 11%

Remaining
1
4 2

3

Total interest = (9 + 40 + 11) = 60

Required rate% = 
60

1200
×100 = 5%

Alternate:-

Let the total amount (ekuk fd dqy jkf'k)
= 12

Total average rate of interest (dqy vkSlr

C;kt nj)

= 
(3×3)% + (8×5)% + (1×11)

12
% = 5%

99. (c) Total interest in 365 days
= 365 × 2 = Rs. 730

By using formula,

Sum = 
730
5×1

×100 = Rs. 14600

100. (d) Amount
(Rs.) 

12900

14250

+1350

Time 
(years)

5

 +1
years 

4

:

:

Interest paid in 2 years = Rs. 120
Interest paid in 1 year = Rs. 60
Interest paid in 3 years = 60 × 3
= Rs. 180
Principal = Rs. (1380 – 180)
= Rs. 1200

Required Rate% = 
60

1200
×100 = 5%

101. (c) A
Interest paid by the person in 1 year

(1 o"kZ esa O;fDr }kjk fn;k x;k C;kt) = Rs. 1350

Interest paid by the person in 4 years

(4 o"kZ esa O;fDr }kjk fn;k x;k C;kt)
= Rs. 1350 × 4 = Rs. 5400

Principal (ewy/u) = Rs. (12900 – 5400)

= Rs. 7500

Rate (nj)% = 
1350
7500

×100 = 18%

102. (b) Let Rate of Interest (ekuk fd C;kt nj) = R%

According to the question (iz'ukuqlkj),

500×4×R 600×3×R
+

100 100
= 190

20R + 18R = 190
38R = 190
R = 5%

Hence, Required Rate (vHkh"V nj)% = 5%

Alternate:-
Note:- In such type of questions to save
your valuable time follow the given below
method.

uksV%& bl izdkj ds iz'uksa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA
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Let Rate of interest = 1%

Case(I): Interest (I1) = 
500×4×1

100
 = 20

Case(II): Interest (I2) = 
500×4×1

100
 = 18

According to the questions,

38
Interest

190

×5

38
Rate%

5%

×5

Hence required Rate% = 5%
103. (a) According to the question,

4000 × 3 × 
100

x
= 

5000×12×2
100

12000x = 120000
x = 10%

104. (d) Let the time is 't' years and the rate of
interest is R%.

ekuk fd le; 't' o"kZ gS rFkk C;kt nj R% gSA

According to the question,

Case(I): y = 
× R × t
100

x 
....(i)

Case (II): z = 
y × R × t

100
....(ii)

By dividing equation (i) by equation (ii)

y  × R × t
=

z y × R × t
x

  y2 = zx

105. (a) Extra interest Rate% = 2 × 3 = 6%
According to the question,
6% of sum = Rs. 300

1% of sum = Rs. 
300
16

 = Rs. 50

Total sum = 50 × 100 = Rs. 5000
106. (d) Note:- For detailed explanation of such

type of questions follow the solution of
previous questions.

uksV%& bl izdkj ds iz'uksa dk foLr`r foospu ns[kus ds

fy, fiNys iz'uksa ds gy dks ns[ksaA

Increased in rates in 4 years (4 o"kks± esas of/Zr

nj) = 1 × 4 = 4%

Hence, interest = 
2400×4

100
= Rs. 96

Total amount after 4 years (4 o"kks± ds ckn

dqy feJ/u) = Rs. (3264 + 96) = Rs. 3360

107. (c) Let the money borrowed by Nitin

(ekuk fd uhfru ds }kjk fy;k x;k dtZ) = Rs. P

According to the question,

P×6×3 P×9×5 P×13×3
+ +

100 100 100
 = Rs. 8160

18P 45P 39P
+ +

100 100 100
 = Rs. 8160

102P
100

 = Rs. 8160

 P = Rs. 
8160×100

102
= Rs. 8000

Alternate:-
Note: In such type of questions to save
your valuable time follow the given below
method.

uksV%& bl izdkj ds iz'uksa esa vius cgqewY; le; ds

cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj

ldrs gSaA

Let principal = Rs. 100

Total interest

= 
100×6×3 100×9×5 100×13×13

+ +
100 100 100

= 18 + 45 + 39 = 102 units
According to the question,
102 units = Rs. 8160

1 unit = Rs. 
8160
102

 = Rs. 80

100 units = Rs. 8000
Hence sum = Rs. 8000
Alternate:-

Total rate of Interest in 11 years (11 o"kks±

ds dqy C;kt nj) = (6×3)% + (5×9)% + (3+13)%

102% = 8160
100% = 8000
Sum = Rs. 8000
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108 (c) Let sum = 100 units
Total interest

= 
100×7×4 100×5×4

+
100 100

= 28 + 20 = 48 units

According to the question (iz'ukuqlkj),

48 units = Rs. 960

1 unit = Rs. 
960
48

 = Rs. 20

100 units = Rs. 20 × 100 = Rs. 2000
Total sum = Rs. 2000
Alternate:-

Total rate of interest he gained (mls izkIr

dqy C;kt nj)
 (7 + 5) × 4%

 48% = 960 (given)
 100% = 2000
total sum = 2000

109. (a) Let time = t years
According to the question,

8000×3×t 6000×5×4
=

100 100

240t = 1200
t = 5 years
Hence required time = 5 years

110. (a) Note:- For detailed explanation of such
type of questions follow the solution of
previous question,

uksV%& bl izdkj ds iz'uksa dks foLrkj esa gy ns[kus ds

fy, fiNys iz'uksa ds gy dks è;ku ls ns[ksaA

Increased interest in 3 years = 3 × 3 = 9%

Hence, increased amount = 
800×9
100

= Rs. 72
Total amount = (920 + 72) = Rs. 992

111. (a) According to the question,

252

23522100

difference (interest)

AmountPrincipal

Time = 2 years,
Let Rate = R%

R = 
252 100

×
2100 2

 = 6%

New rate of interest = (6 – 1) = 5%

New interest = 
2100×5×2

100
= Rs. 210

Hence Required interest = Rs. 210

112. (a) Avg. rate of interest (vkSlr C;kt nj)

= 
800

20000
×100 = 4%

By alligation Rule (feJ.k fu;e ds }kjk)]

Ist part

4%

4

8%

IInd part
4
3

(8 – 4)
4
3

–
Ratio of
quantity

%

:

8
3

: 4

32

Required sum = 
20000
(2 + 3) × 2

= Rs. 8000

113. (d) Difference between their rates he gained

from both boys (nksuksa yM+dksa ls izkIr C;kt nj esa

varj)
 15 × 5% – 12 × 4%
 75% – 48%
 27% = 1350 (Given)
 100% = Rs. 5000

114. (d) Let Principal (ewy/u) = Rs. P

Amount (feJ/u) = Rs. 2 P
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Simple Interest (lk/kj.k C;kt) = 2P – P =

Rs. P

Using formula S.l = 
P × R × T

100

P = 
P × T × R

100
,  P = 

P × 25 × T
4×100

400 = 25T = T  =  
400
25

Time = 16 Years

115. (b)

PA 720 Rs. 1020

2 years 5 years

300

 According to figure (fp=kkuqlkj)
 SI for 5 years = Rs. 300
 SI for 1 year  = Rs. 60
 SI for 2 years = 60 × 2 = 120
 Principal amount (ewy/u) = Amount

after 2 years – 2 years SI = 720 – 120
 Principal amount (ewy/u) = Rs. 600

116. (d) According to the question, (iz'ukuqlkj)

3000×5×R 2000×5×R
–

100×2 100×2
 = 125

 
1

15000R –10000R
200

 = 125

5000R
200

 = 125  R = 5%

117. (d) ATQ = 
S.I8

SUM25





Time = 
R
2

, Rate = R

Now 8 = 
25×R×R
100 × 2

= 
P.R.T

S.I = 
100

 
  

8 = 
2R

4 × 2
  64 = R2

R = 8%
118. (d) According to the question,

(iz'ukuqlkj)
A B C

A×5×2 B×5×3 C×5×4
A+  = B+  = C+

100 100 100
     
          

110 A = 115B = 120C
22A = 23B = 24C
Ratio of Amount (By using L.C.M of 22,

23 and 24) (feJ/u dk vuqikr y-l- dk iz;ksx

djus ij)
276 : 264 : 253

A's loan (A dk ½.k) = 
276
793

 × 7930 = 2760

119. (c) According to the question, (iz'ukuqlkj)
Interest = 1 Rs. per day
Interest in one year = 1 × 365 = Rs. 365

S.I. = 
P×R×T
100

365 = 
P×5×1
100

P = 
365×100

5
 = 73 × 100 = Rs. 7300

120. (a) According to the question, (iz'ukuqlkj)

Let Principal (ewy/u) = Rs. x

Amount (feJ/u) = Rs. 4x

Interest (C;kt) = 4x – x = Rs. 3x

S.I = 
P×R×T
100

3x = 
×15×T
100

x

300 = 15T = T = 20 years.
121. (c) According to the question,

Amount (feJ/u) = Rs. 3144.

Rate (nj) = 8%

Let, Principal (ewy/u) = Rs. x

Time (le;)

= 
30 + 29 + 31 + 30 + 31 + 30 + 31 +7

366
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= 
219
366

S.I = 
P×R×T
100

3144 – x = 
×8×219

100×366
x

= Rs. 3000

122. (c) Total price of T.V (T.V dk ewY;) = Rs. 16000

 Initial Payment (izFke fdLr) = Rs. 4000

 Remaining amount (cpk gqvk /u)
= Rs. 12000
 Simple interest in 15 months for
(15 eghus dk lk/kj.k C;kt) Rs. 12000

 S.I = 
P×R×T
100

 S.I = 
12000×12×15

100×12
 S.I = Rs. 1800
 With S.I, total amount to be paid for
principal Amount (lk/kj.k C;kt ij dqy feJ/u)
Rs. 12000
= Rs. (12000 + 1800) = Rs. 13800
 Therefore, total amount he pays for
the T.V. is (T.V dk dqy ewY;)
= 4000 + 13800 = Rs. 17800

123. (a)
P 10

=
S.I 3
Let Principal (ewy/u) = 10

S.I for 5 years = 3
S.I for 1 year = 0.6

Rate = 
SI

Principal ×100

= 
0.6
10

×100 = 6%

124. (d) 10% of Rs. 3 lacs

24,000

30,000 18,000

Diff. = 0

6000 6000

6% of Rs. 3 lacs

[2000×12
= 24000]

1 : 1

So amount deposited (tek jkf'k)

= 1,50,000 each

and difference (varj) = 0

125. (b) Sum of the 12 years age (12 o"kZ vk;q dk dqy

;ksx) = Rs. 100,000

Sum of the 18 years age (18 o"kZ vk;q dk dqy

;ksx)  P + 
P×R×T
100

 100,000 + 
100,000×6×6

100

 100,000 + 36000  136,000
Total expenses (6 years) (dqy [kpZ)
= 3000 × 6 = Rs. 18,000

Amount attained (dqy /u)

 136,000 – 18,000 = 1,18000
126. (a) No. of days (dqy fnu) = 146 days

SI = 
P×T×R 36000 × 9.5 ×146

=
100 100 × 365

= Rs. 1368

127. (a)

1 1
2

3Rate = 5%
1
2

%

%Increase by

1
1
2

% = 105

Sum = 100% = 105 × 
2
3

×100

= Rs. 7,000
128. (c) Time = 18 + 28 + 31 + 30 + 31 + 8

= 146 days

Simple interest (lk/kj.k C;kt)

= 
12,000 ×146×15

365 ×100

Simple interest (lk/kj.k C;kt) = Rs. 720

Amount (feJ/u) = Rs. (12,000 + 720)

= Rs. 12,720

129. (b)
 × (r + 3) × t  × r × t

–
100 100

x x
 = 300
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rt + 3 t – rt
100

x x x
 = 300

[time = 2 years]
3 × x × 2 = 300 × 100

x = 
300 ×100

6

x = Rs. 5,000
value of 4x = 4 × 5,000

         = Rs. 20,000

130. (a) Simple Interest for one year = 
240
3

= Rs. 80
Simple Interest for two year
= 80 × 2 = Rs. 160
Difference for 2 year = 170 – 160
= Rs. 10

Rate% = 
10
80

×100 = 12
1
2

%

131. (a) P + S.I. = 
P×R×T
100

 + P

2200 = 
P×5×T
100

 + P

2200 × 100 = 5PT + 100P .....(i)

2320 = 
P×8×T
100

+ P

2320 × 100 = 8PT + 100P
2320 × 100 = 3PT + 5PT + 100P   ......(ii)
Value of eq. (i) put in eq. (ii)
2320 × 100 = 3PT + 2200 × 100
3PT = 120 ×100
PT = 4000
Value of PT in eq. (i)

2200 × 100 = 5 × 4000 + 100P
220000 – 20000 = 100P

P = 
20000
100

P = Rs. 2,000

200 = 
2000×5×T

100

T = 
200
100

 = 2 years.

Alternate:-
(8 – 5)% = 2320 – 2200
3% = 120
1% = 40
5% = 200
Principal = 2200 – 200

      = Rs. 2,000

S.I. = 
P×R×T
100

200 = 
2000×5×T

100

T = 
2000×5×T

100

T = 
200
100

 = 2 years


